
I Semester Degree Examination, February/March 2024 
(NEP) (F+R) 

(Open Elective) 
MATHEMATICS 

Time: 2% Hours 

Instruction: Answer all questions. 

Answer any 4 questions. 

1. Define subset. Give an example. 

2. Define function. 
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4. Define ldentity matrix. Give an example. 

5. If A =|7 8 9 B=| 

3. Find the number of 4-digit number that can be fomed using the digits 1, 2, 3, 
4, 5 if no digit is repeated. 

Answer any 4 questions. 

6. If 5:15::8:x,find x. 
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PART-A 

3 
12 
4 5| 

find A + 2B. 

PART -B 
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i) AUC 

v) B-A 

Max. Marks : 60 

ii) AnB 

(4x2-8) 

1. IfA= {1, 2, 4, 7, 9, 10}, B= (3,7, 10) and C = (2, 4, 9). Find the following : 

(4x5=20) 
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